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— CV:0~1.2V RHE, 50 mVs*
— LSV: 0~1.0V RHE, 5 mVst
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— LSV(0,): 1.05~0.1V RHE, 10 mVs?, LSV(1)~LSV(4)
— CV(N,): 1.0~0.05 V RHE, 50 mV s, CV(1)~CV(4)
— ZLERY1)LCV(0,): 1.05~0.1V RHE, 50 mV s
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20Wt%Pt/C activity for ORR

CV 50mV st 500rpm
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LSV and CV of 20wt% Pt/C, | at 0.8V and 0.9V vs. cycles
after 100 cycles 20wt% Pt/C (0.8V)

* 20wt% Pt/VXC72R . + 20wt% Pt/VXC72R X

5.0E-01
o 0.0E+00
‘e -5.0E-01
:(’ -1.0E+00 ]
€  -15E+00 .
S -2.0E+00 g ) == 1stscan
o
g -2.5E+00 < - e 15t scan
S -3.0E+00 g 1> :
S -35E+00 ~ 1 _ 2nd scan
S -4.0E+00
g 456400 0.5 © === 7ndscan
o ~5.0E+00 0 e e e e e T, )
-5.5E+00 | 0 20 40 60 80 100 120
~6.0E+00
0 0.2 04 06 08 1 Cycle
1.0E+00 20wt% Pt/KB (0.9V)
2
‘."E 5.0E-01
S ™ 15
\i 0.0E+00 o
2 = 1 —f—"5t scan
g [® )
; ~5.0E-01 > o4 o6 08 <L —i—1st scan
g E 0.5 @H
g 1 0400 -_— 2nd scan
: ° 0O 20 40 60 81 100 1op o 2ndscan
-1.5E+00

Potential/V vs RHE Cycle
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